24
25
26
27
28
29
30
31
40
41
42
43
48

49

52
ERE

54
RO

T ®k
AZAILFYX

WE B
ZEF VIR

FE BEME
LBV

Rig %
SGA

iR
FEBYaz7

R
AT 4

TR
KETO21=T

PR XD
ANV

s BHE
BBD2=T

il B2E
BEDLZT

%H
MIRY—L

R =R
HFINNIAY

MR RE
TEYILA—

il B
+tB/—X

bl
EFIYRLX

HiR R
SGA

TR
KETO21=T

fEIS EiE
BBY2=T

e
A VIR

HR =R
HFINNIAY

il B
+tB/—X

IR g
SGA

fEIS EiEx
BBD2=T

HE R
HBENTIEY

HiR R
SGA

MR R
HBENTIEY

R =R
HFINNIAY

2

1

0

1

[ 21 — 20 ]
21 — 20
[21 — 17
14 — 21
15 — 21 |
[ 6 —21]
4 — 21
[ 18 — 21
16 — 21
[15 — 21
8 — 21
[21 — 19
19 — 21
18 — 21 |
[21 — 11
21— 5
[ 2 —21]
4 — 21
[21 — 16 ]
21 — 17
[21 — 11
21 — 14
[11 — 217
14 — 21
[21 — 1
21— 0
[ 9 —21]
10 — 21
[ 21 — 18]
21 — 10
[17 — 21
12 — 21
[21 — 9
21— 5
[ 14 — 217
8 — 21
[ 21 — 18]
12 — 21
21 — 14
[15 — 21
15 — 21
[21 — 6
21— 7
[21 — 11
21— 6
[21 — 8
21 — 12
[11 — 217
14 — 21
[21 — 1
21— 7
[ 10 — 21
21 — 14
18 — 21 |
[21 — o ]
21— 6
[21 — 5
21— 7

0

2

2

2

0

2

0

2

0

2

2

2

6FE-LTFIUTILA

FH EH
7yvTILRX

MR RE
TEYILA—

nH  FE
KEJBC

)
ROMRIVY TR

bl
EFIIYRLR

FvTILRX

REp i

ERD2=T

i
REVAF—X

e

'
REED =T

e
ST VIR

T ®k
AZAINFYX

nH  FE
XEJBC

)
AIARIVY TR

REp i

BEARD2=T

AH RF
nass7

il B
tEBE/—R

AH RF
nass7

AH RF
nass7

EE RER
EMHE VYR

HEBES

12

13

20
21
22
23
32
33
34
35
36
37
38
39
44
45
46
47
50

51

53
ERE

55
=R

iT::|
LRBVaz7

RRIE
MARE—X

B
REED AT

TRE WX

BEDAZT

Bk
AZAILFYX

=57 X
PAAVZS

e
MARZ—Z

MR RTF

BEDAZT

i GES
AEILVRX

INFR
AZAILFYX

Eigos
MIRY—L

LS
HFINMIAY

MNE ETR
iRYa=7

RRIE
MARE—X

TRE WX

BEDLZT

=57 XM
PANAVZS

FX fERE
FEBYaz7

IR RTF

BEDLZT

M R
nasz7

ERR
SGA

MNE ETR
iRYa=7

WA FE
KESTMAG—

FX fEMRE
FEBYaz7

R
nasz7

MNE ETR
iRYa=7

I ETF

BEDLZT

NE BTG
AiRYa=7

AH RF
nass7

2

0

2

0

2

0

2

2

0

0

0

0

0

2

2

2

0

2

0

0

0

KIE
KETO2=T7

L
tEBE/—Z

1 =l
HPNIEY

EXR #HF
By BIVY LA

WA FE
KESTMRG—

R
BAY2ZT

A
EEINWV

=f WE
THENIVNY

A
7yI WX

R ER
nasys7

\E
YMLAR Y2

ERR
SGA

KIE
KETO2=T

=R K
HPNNIEY

[IT):: 7S
KESTVAG—

B 2
BENMIY

bopr ]
EEINWIIV

i GES
AEILVRX

IT]=:]
YRLRT Y a

EE RER
ZMHE VYR

1 =
HPINT A

=57 XM
WAV

I ETF

BEDLZT

EE RER
ST VIR

WA FE
KESTMAG—

EE RER
ZEMHE VYR

EE RER
ST VIR

NE ETR
FiRYa=7



